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Note : Answer any five questions. All questions 

carry equal marks. 

1. Explain any two foliar diseases of Mulberry 

and their management. 10 

2. Discuss on the root rot disease of Mulberry 

and their management. 10 

3. List the sap suckers of Mulberry. Explain 

any two in detail along with their 

management. 10 

4. Describe the various aspects of Flacherie 

disease of silkworm and their management. 

10 
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5. Explain the hygienic practices to be followed 

during rearing of silkworms. 10 

6. Discuss on the Dermestes beetle with 

respect to its life-cyle, symptoms of attack, 

extent of damage and management. 10 

7. Describe the pests of tasar silkworm host 

plants.   10 

8. Write short notes on any two of the  

following :  2 × 5 = 10 

 (a) Life-cycle of Uzi fly 

 (b) Diseases of Oak Tasar host  plants 

 (c) Predators of Tasar silkworm 
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 BLP–004 

js'kedhV ikyu esa izek.k&i=  

(lh-vkbZ-,l-) 

l=kar ijh{kk  

twu] 2025 

ch-,y-ih-&004 % Qly lqj{kk@cpko 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA 

1- 'kgrwr dh iÙkh ds fdUgha nks jksxksa vkSj muds izca/ku dh 

O;k[;k dhft,A 10 

2- 'kgrwr ds tM+ foxyu jksx vkSj muds izca/ku dh ppkZ 

dhft,A   10 

3- 'kgrwr ds jl pw"kdksa dh lwph rS;kj dhft,A fdUgha nks jl 

pw"kdksa vkSj muds izca/ku dh foLrkj ls O;k[;k dhft,A10 

4- js'kedhVksa ds ¶yspjh jksx ,oa muds izca/ku ds fofHkUu i{kksa 

dk o.kZu dhft,A 10 
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5- js'kedhV ikyu ds nkSjku LoPNrk dk /;ku j[kus lEcU/kh 

O;ogkjksa dh O;k[;k dhft,A 10 

6- MesZLVsl Hk`ax dh mlds thou&pØ] vkØe.k ds y{k.k] 

{kfr dh lhek vkSj izca/ku ds lUnHkZ esa ppkZ dht,A 10 

7- rlj js'kedhV [kk| ikniksa ds ihM+dksa dk o.kZu dhft,A 

10 

8- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2 × 5 = 10 

(d) Åth eD[kh dk thou&pØ 

([k) vksd rlj [kk| ikniksa ds jkx 

(x) rlj js'kedhV ds ijHk{kh 

× × × × × 

 

 

 

 

 

 

 

 

 


